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Question Id : 68634012658 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
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: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



5C's judgment on Delhi govt and LG reaffirms the principles of representative govt and federalism

The Supreme court verdict that will hopefully settle the acrimonious dispute between APP's Delhi government
and the Lieutenant Governor-the issue was who controls administrative services-is a reaffirmation of
tederalism and the principle that people's choice of a government must matter. India's Capital has been hosting
an unedifying spectacle. and SC's clear verdict should leave all parties in no doubt where their power begins
and ends. The political party rivalry between BJP and AAP will sharpen. But that's alright in a democracy.
What's not is schoolyard-like fights everyday.

While the issue decided by the constitution bench was whether the Delhi government has legislative and
executive powers over the city's bureaucracy, that fight engendered many others. From teachers training to
power subsidies, AAP has accused successive LGs of interference. and LGs have returned accusations of
"impropriety’ and worse. The bitter public battles resulted in a bureaucracy caught in the middle of warring
chiefs and severely affected governance. LG annulling, rejecting, removing appointments made by the Dellu
government was one part of the story. There were other theatrics-a strike by admmistrative officers following
an allegation that an AAP MLA had assaulted an officer. At the time, in a first. the CM and three ministers
camped at LG's office/residence overnight demanding to direct the striking officers to call off the protest.
Delhi has had enough of this.

SC had said GOI taking over executive powers of an elected government would "completely abrogate the
tederal system of governance and the principle of representative democracy”: and that "the permanent
executive. consisting of unelected civil service officers... may act in ways that disregard the will of the
electorate.” That's a lesson for everyone. When people elect governments. governments must, within well-
understood constitutional boundaries. be allowed to govern, including in allocating duties to officers. And if
duly elected state governments must always be in lockstep with the Centre then there 1sn't much to be said
about our federalism. The chatter after the SC verdict 1s that AAP i3 again the boss of the Dellu government.
The more profound point is that the people are the boss.

Sub questions

Question Number : 1 Question Id : 68634012659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'acrimony’

1. Sweetness

| B

. Bitterness
3. Acrobat
4. Acrylic

Options :

68634050001. 1
68634050002. 2
68634050003. 3
68634050004. 4

Question Number : 2 Question Id : 68634012660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the meaning of the term 'engender'?

1. Beget

| B

. Engirdle
3. Engraft
4. Buff

Options :

68634050005. 1
68634050006. 2
68634050007. 3
68634050008. 4

Question Number : 3 Question Id : 68634012661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The statement which is false:

1. The issue was who controls administrative services

| B

. For the first time in history of India, CM of Delhi camped at PMO demanding officers to call off strike.
3. Abrogate means formal repeal
4. People are the boss in democracy as per SC verdict

Options :

68634050009. 1
68634050010. 2
68634050011. 3
68634050012. 4

Question Number : 4 Question Id : 68634012662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The words which are correctly associated with their synonyms are:

1. Call off : call out
2. Abrogate : repeal
3. Protest : object
4. Theatrics : dramatic

Options :

68634050013. 1

68634050014. 2
68634050015. 3



68634050016. 4

Question Number : 5 Question Id : 68634012663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word for "a system of government in which several states form a unity but remain independent in
internal affairs” 1s

1. Dedomeratic
2. Fedayeen
3. Socialist

4. Federal

Options :

68634050017. 1
68634050018. 2
68634050019. 3
68634050020. 4

Question Id : 68634012658 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



5C's judgment on Delhi govt and LG reaffirms the principles of representative govt and federalism

The Supreme court verdict that will hopefully settle the acrimonious dispute between APP's Delhi government
and the Lieutenant Governor-the issue was who controls administrative services-is a reaffirmation of
tederalism and the principle that people's choice of a government must matter. India's Capital has been hosting
an unedifying spectacle. and SC's clear verdict should leave all parties in no doubt where their power begins
and ends. The political party rivalry between BJP and AAP will sharpen. But that's alright in a democracy.
What's not is schoolyard-like fights everyday.

While the issue decided by the constitution bench was whether the Delhi government has legislative and
executive powers over the city's bureaucracy, that fight engendered many others. From teachers training to
power subsidies, AAP has accused successive LGs of interference. and LGs have returned accusations of
"impropriety’ and worse. The bitter public battles resulted in a bureaucracy caught in the middle of warring
chiefs and severely affected governance. LG annulling, rejecting, removing appointments made by the Dellu
government was one part of the story. There were other theatrics-a strike by admmistrative officers following
an allegation that an AAP MLA had assaulted an officer. At the time, in a first. the CM and three ministers
camped at LG's office/residence overnight demanding to direct the striking officers to call off the protest.
Delhi has had enough of this.

SC had said GOI taking over executive powers of an elected government would "completely abrogate the
tederal system of governance and the principle of representative democracy”: and that "the permanent
executive. consisting of unelected civil service officers... may act in ways that disregard the will of the
electorate.” That's a lesson for everyone. When people elect governments. governments must, within well-
understood constitutional boundaries. be allowed to govern, including in allocating duties to officers. And if
duly elected state governments must always be in lockstep with the Centre then there 1sn't much to be said
about our federalism. The chatter after the SC verdict 1s that AAP i3 again the boss of the Dellu government.
The more profound point is that the people are the boss.

Sub questions

Question Number : 1 Question Id : 68634012659 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the word 'acrimony’

1. Sweetness

| B

. Bitterness
3. Acrobat
4. Acrylic

Options :

68634050001. 1
68634050002. 2
68634050003. 3
68634050004. 4

Question Number : 2 Question Id : 68634012660 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the meaning of the term 'engender'?

1. Beget

| B

. Engirdle
3. Engraft
4. Buff

Options :

68634050005. 1
68634050006. 2
68634050007. 3
68634050008. 4

Question Number : 3 Question Id : 68634012661 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The statement which is false:

1. The issue was who controls administrative services

| B

. For the first time in history of India, CM of Delhi camped at PMO demanding officers to call off strike.
3. Abrogate means formal repeal
4. People are the boss in democracy as per SC verdict

Options :

68634050009. 1
68634050010. 2
68634050011. 3
68634050012. 4

Question Number : 4 Question Id : 68634012662 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The words which are correctly associated with their synonyms are:

1. Call off : call out
2. Abrogate : repeal
3. Protest : object
4. Theatrics : dramatic

Options :

68634050013. 1

68634050014. 2
68634050015. 3



68634050016. 4

Question Number : 5 Question Id : 68634012663 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The one word for "a system of government in which several states form a unity but remain independent in
internal affairs” 1s

1. Dedomeratic

2. Fedayeen

3. Socialist

4. Federal
Options :
68634050017. 1
68634050018. 2

68634050019. 3
68634050020. 4

Sub-Section Number : 2
Sub-Section Id : 686340415
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634012664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions from the options given below:

When ice-cream is drawn the freezer, it 1s usually collected in contamers which gives it the desired shape
or size convenient handling during the hardening and marketing. Most bulk ice cream 1s packaged
fibre board cartoon.

1. from. in. for
2. from. with. to
3. from. of. with
4. from. for, in
Options :
68634050021. 1
68634050022. 2

68634050023. 3
68634050024. 4

Question Number : 6 Question Id : 68634012664 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below:

When ice-cream is drawn the freezer, it 1s usually collected in containers which gives it the desired shape
or size convenient handling during the hardening and marketing. Most bulk ice cream 1s packaged
fibre board cartoon.

1. from. . for

| ]

. from. with. to
3. from. of. with
4. from. for, in

Options :

68634050021. 1
68634050022. 2
68634050023. 3
68634050024. 4

Question Number : 7 Question Id : 68634012665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:

1. TREACHERY

| )

. TRIACHURY
3. TERACHERY
4. TERECHERY

Options :

68634050025. 1
68634050026. 2
68634050027. 3
68634050028. 4

Question Number : 7 Question Id : 68634012665 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:

1. TREACHERY

[

. TRIACHURY

3. TERACHERY

4. TERECHERY



Options :

68634050025. 1
68634050026. 2
68634050027. 3
68634050028. 4

Question Number : 8 Question Id : 68634012666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

I was astounded at his lack of knowledge about the continent of Africa.

—

. colossal

[ ]

. huge

3. great

4. abundent
Options :
68634050029. 1
68634050030. 2

68634050031. 3
68634050032. 4

Question Number : 8 Question Id : 68634012666 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

I was astounded at his lack of knowledge about the continent of Africa.

—

. colossal

| )

. huge

(5]

. great
4, abundent

Options :

68634050029. 1
68634050030. 2
68634050031. 3
68634050032. 4

Question Number : 9 Question Id : 68634012667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which word 1s not the synonym of 'Affliction':

1. Distress

| B

. Adore
3. Sorrow
4. Sadness

Options :

68634050033. 1
68634050034. 2
68634050035. 3
68634050036. 4

Question Number : 9 Question Id : 68634012667 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which word 1¢ not the synonym of 'Affliction":
1. Distress
2. Adore
3. Sorrow

4. Sadness

Options :

68634050033. 1
68634050034. 2
68634050035. 3
68634050036. 4

Question Number : 10 Question Id : 68634012668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct use of the underlimed phrase is:

Despite of their efforts to tarnish our campaign. we managed to emerge victorious.

1. Despite off their

b2

. Despite of the

L]

. Despite their

s

. Despite for their

Options :



68634050037. 1
68634050038. 2
68634050039. 3
68634050040. 4

Question Number : 10 Question Id : 68634012668 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Correct use of the underlimed phrase is:

Despite of their efforts to tarnish our campaign. we managed to emerge victorious.

1. Despite off their

| B)

. Despite of the

L)

. Despite their
4. Despite for their

Options :

68634050037. 1
68634050038. 2
68634050039. 3
68634050040. 4

Question Number : 11 Question Id : 68634012669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 2x x .
The value of + + 18

¥l laxt w=1

)
P

4.2

Options :

68634050041. 1
68634050042. 2
68634050043. 3
68634050044. 4

Question Number : 11 Question Id : 68634012669 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 2x X .
The value of + + 1%

¥l l=x x-=1

| ]
Eed

4.2

Options :

68634050041. 1
68634050042. 2
68634050043. 3
68634050044. 4

Question Number : 12 Question Id : 68634012670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 20% of A= B and 40% of B = C. then the value of 3C 1s:

1.20% of (A+B)

| )

.30% of (A-B)
3. 10% of (A+B)
4. 10% of (A-B)

Options :

68634050045. 1

68634050046. 2

68634050047. 3
68634050048. 4

Question Number : 12 Question Id : 68634012670 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If 20% of A= B and 40% of B = C. then the value of 3C 1s:

1. 20% of (A+B)

| )

. 30% of (A-B)
3.10% of (A+B)

4.10% of (A-B)



Options :

68634050045. 1
68634050046. 2
68634050047. 3
68634050048. 4

Question Number : 13 Question Id : 68634012671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of two expressions is x>+x2y-xy*-)" and their HCF is (x+y). The LCM of those expressions will

be:

[ ]
o
e
-

I

-
foa®
h
|
-

T
ot

Options :

68634050049. 1
68634050050. 2
68634050051. 3
68634050052. 4

Question Number : 13 Question Id : 68634012671 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product of two expressions is x>+x2y-x3°-)" and their HCF is (x+y). The LCM of those expressions will

be:

1. (x-3)

!_J
i
.
o
[
e

Options :

68634050049. 1
68634050050. 2
68634050051. 3
68634050052. 4

Question Number : 14 Question Id : 68634012672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On simple interest a person invested one-fourth of his capital at 8%. one-third at 6% and the remaining at
10%. If his annual income 1s 735, then the capital 1s:

1.21764

| )

27350
3.29000
4.217640

Options :

68634050053. 1
68634050054. 2
68634050055. 3
68634050056. 4

Question Number : 14 Question Id : 68634012672 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On simple interest a person invested one-fourth of his capital at 8%. one-third at 6% and the remaining at
10%. If his annual income 1s T735. then the capital is:

1.21764

| )

27350
3.29000
4.717640

Options :

68634050053. 1
68634050054. 2
68634050055. 3
68634050056. 4

Question Number : 15 Question Id : 68634012673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The compound interest on 210,000 in 6 months at 8% per annum. the interest being compounded quarterly. 1s:

1.32404

[ )

. %400
3. 2202
4. 2200

Options :



68634050057. 1
68634050058. 2
68634050059. 3
68634050060. 4

Question Number : 15 Question Id : 68634012673 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The compound interest on 210,000 in 6 months at 8% per annum, the interest being compounded quarterly. 1s:

1. 32404

[ )

. %400
3.2202
4. 2200

Options :

68634050057. 1
68634050058. 2
68634050059. 3
68634050060. 4

Question Number : 16 Question Id : 68634012674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If all vowels are removed from the English alphabets. which letter will be the seventh to the right of the fifth
letter from the left?

1.L

[ )

.M
3N
4.P

Options :

68634050061. 1
68634050062. 2
68634050063. 3
68634050064. 4

Question Number : 16 Question Id : 68634012674 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If all vowels are removed from the English alphabets. which letter will be the seventh to the right of the fifth
letter from the left?

LL

2.M

AN

4. P
Options :
68634050061. 1
68634050062. 2

68634050063. 3
68634050064. 4

Question Number : 17 Question Id : 68634012675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

R+*TIL2SD=M#8C%B<K1&AWPE+Q@7F6

On the basis of above sequence what will come in place of question mark in the following?

*RI:Fo@ LI$: Q@E DSM:?

1. #MC

2

. PEW
3. P£Q
4. RK*

Options :

68634050065. 1
68634050066. 2
68634050067. 3
68634050068. 4

Question Number : 17 Question Id : 68634012675 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R+xTJL2SD=M#A8C%WB<K1&AWIPE+HQ@7F6
On the basis of above sequence what will come in place of question mark in the following?
*RI:Fo@ LIS :Q@E D$M : ?

1. #MC

2

.PEW
3. P£Q)
4, RK*
Options :
68634050065. 1
68634050066. 2

68634050067. 3
68634050068. 4

Question Number : 18 Question Id : 68634012676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement: Children. who get encouragement usually perform better.

Assumptions:

I. Some parents do not encourage children.

II. Parents may follow above advice.

Which of the above assumption(s) 1s/are implicit in the statement?

1. Only assumption I

| )

. Only assumption II

Laa

. Assumption I and assumption IT
4. Neither assumption I nor assumption IT

Options :

68634050069. 1
68634050070. 2
68634050071. 3
68634050072. 4

Question Number : 18 Question Id : 68634012676 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement: Children. who get encouragement usually perform better.
Assumptions:

L. Some parents do not encourage children.

I1. Parents may follow above advice.

Which of the above assumption(s) is/are implicit in the statement?

1. Only assumption I

| )

. Only assumption II

L¥ ]

. Assumption I and assumption II

4. Neither assumption I nor assumption IT

Options :

68634050069. 1
68634050070. 2
68634050071. 3
68634050072. 4

Question Number : 19 Question Id : 68634012677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the trend in rows or columns and choose the missing term from the options.

A2 c4 | E6
<HIE 7
M3 09 | Qi4]

)

K8
3.K15
4. L10

Options :

68634050073. 1
68634050074. 2
68634050075. 3
68634050076. 4

Question Number : 19 Question Id : 68634012677 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the trend in rows or columns and choose the missing term from the options.

A2 | c4 | E6
G| 15 ?
M | 09 | Qi4]

1.J15

| ]

.K8
3. K15
4. L10

Options :

68634050073. 1
68634050074. 2
68634050075. 3
68634050076. 4

Question Number : 20 Question Id : 68634012678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in following figure?

2
[e2a}

3. 16
4. 10

Options :

68634050077. 1
68634050078. 2
68634050079. 3
68634050080. 4

Question Number : 20 Question Id : 68634012678 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many triangles are there in following figure?

b2
s}

3. 16
4. 10

Options :

68634050077. 1
68634050078. 2
68634050079. 3
68634050080. 4

Question Number : 21 Question Id : 68634012679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
received the Major Dhyan Chand Khel Ratna Award 2022.
1. Seema Punia
2. Achanta Sharath Kamal
3. Sakshi Kumari
4. Lakshya Sen
Options :
68634050081. 1
68634050082. 2

68634050083. 3
68634050084. 4

Question Number : 21 Question Id : 68634012679 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



recetved the Major Dhyan Chand Khel Ratna Award 2022,

1. Seema Punia

2

. Achanta Sharath Kamal
3. Sakshi Kumari

4, Lakshya Sen

Options :

68634050081. 1
68634050082. 2
68634050083. 3
68634050084. 4

Question Number : 22 Question Id : 68634012680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The theme of 2023 Republic Day Parade was

1. Education for all

[ B

. Women safety

LIPS ]

"Aatam Nirbhar Bharat'

4. Jan Bhagidari

Options :

68634050085. 1
68634050086. 2
68634050087. 3
68634050088. 4

Question Number : 22 Question Id : 68634012680 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The theme of 2023 Republic Day Parade was
1. Education for all
2. Women safety

3. "Aatam Nirbhar Bharat'

4. Jan Bhagidari

Options :
68634050085. 1
68634050086. 2



68634050087. 3
68634050088. 4

Question Number : 23 Question Id : 68634012681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which city has set up India's first real time Gold ATM?

1. Kolkata

[

. Chennai
3. Hyderabad
4. Bengaluru

Options :

68634050089. 1
68634050090. 2
68634050091. 3
68634050092. 4

Question Number : 23 Question Id : 68634012681 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which city has set up India's first real time Gold ATM?

1. Kolkata

[

. Chennai
3. Hyderabad
4. Bengaluru

Options :

68634050089. 1
68634050090. 2
68634050091. 3
68634050092. 4

Question Number : 24 Question Id : 68634012682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who can proclaim financial emergency in India?

1. Finance Minister

| B

. Home Minister
3. President
4, Prime Minister

Options :

68634050093. 1
68634050094. 2
68634050095. 3
68634050096. 4

Question Number : 24 Question Id : 68634012682 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who can proclaim financial emergency in India?
1. Finance Minister
2. Home Minister
3. President
4. Prime Minister
Options :
68634050093. 1
68634050094. 2

68634050095. 3
68634050096. 4

Question Number : 25 Question Id : 68634012683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

e-NAM 1s e-market platform for trading:

1. Agricbusiness farm yield

[ )

. Stocks

3. NFTs

4. e-Rupee trading
Options :

68634050097. 1
68634050098. 2



68634050099. 3
68634050100. 4

Question Number : 25 Question Id : 68634012683 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e-NAM is e-market platform for trading:
1. Agricbusiness farm yield
2. Stocks
3. NFTs
4. e-Rupee trading
Options :
68634050097. 1
68634050098. 2

68634050099. 3
68634050100. 4

Part B: Psychology

Section Id : 686340252
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340416
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634012684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: About function of the central executive of Working Memory.
Statement I: The ability to coordinate performance on two separate tasks and to switch between them
Statement IT: The ability to use retrieval strategies
In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false
4. Statement I 1s incorrect but Statement IT 1s true
Options :
68634050101. 1
68634050102. 2

68634050103. 3
68634050104. 4

Question Number : 26 Question Id : 68634012684 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050101. 1
68634050102. 2
68634050103. 3
68634050104. 4

Question Number : 27 Question Id : 68634012685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DSM 5

1. Used 3 axes for diagnosis of mental disorder

b2

. Abandoned muli-axial systems entirely
3. Used 4 axes of diagnosis of mental disorder
4. Mamtamed the same multiaxial system as DSM IV with some modifications

Options :

68634050105. 1
68634050106. 2
68634050107. 3
68634050108. 4

Question Number : 27 Question Id : 68634012685 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SITH.UH.-5
1. T [deRI 1 e &3 & forg Ji7 st (ufes) o1 3w S|
2. gl o7 &1 98 TR § AN IR Ia g
3. T faepRl &1 e &4 & fAg 4 Sl &1 UG $d1 8|
4. P SUGRUN & F1Y S1LUH.UH. IV I a8 I4I S5 o &I g1 3G ¢ |

Options :

68634050105. 1
68634050106. 2
68634050107. 3
68634050108. 4

Question Number : 28 Question Id : 68634012686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is an assumption of arousal theory?

1. High levels of arousal are the most desirable

| )

. Optimal levels of arousal exist for each person
3. Zero levels of arousal is the desirable
4. Optimal levels of arousal exists for various activities

Options :
68634050109. 1



68634050110. 2
68634050111. 3
68634050112. 4

Question Number : 28 Question Id : 68634012686 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050109. 1
68634050110. 2
68634050111. 3
68634050112. 4
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Question Number : 29 Question Id : 68634012687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The structuralist school of Psychology.
1. Used introspection to analyze conscious experiences
2. Relied heavily on the process of natural selection
3. Was concerned with experience as a whole
4. Use dream analysis to reveal the unconscious
Options :
68634050113. 1
68634050114. 2

68634050115.3
68634050116. 4

Question Number : 29 Question Id : 68634012687 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050113. 1
68634050114. 2
68634050115. 3
68634050116. 4

Question Number : 30 Question Id : 68634012688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The moon illusion in best explained by.

1. The effects of depth cues on apparent distance

[ B

. The perceptual closure effect
3. The denser atmosphere along the horizon
4. Convergence

Options :

68634050117. 1

68634050118. 2

68634050119. 3
68634050120. 4

Question Number : 30 Question Id : 68634012688 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050117. 1
68634050118. 2
68634050119. 3
68634050120. 4

Question Number : 31 Question Id : 68634012689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The key aspect of therapy based on existentialism 1s

1. Resolving unconscious conflicts

[ )

. Eliminating symptoms
3. Believing you are capable of making choices about who you want to be
4. A holistic analysis

Options :

68634050121. 1
68634050122. 2
68634050123. 3
68634050124. 4

Question Number : 31 Question Id : 68634012689 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050121. 1
68634050122. 2
68634050123. 3
68634050124. 4

Question Number : 32 Question Id : 68634012690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tuhina. 18 month old is preoccupied with pointing at things and asking what they are. Her behavior is
characterized by.

1. Naming explosion
2. Prelinguistic vocabulary
3. Overactive LAD (Language Acquisition Device)
4, Metalinguistic awareness
Options :
68634050125. 1
68634050126. 2

68634050127. 3
68634050128. 4

Question Number : 32 Question Id : 68634012690 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050125. 1
68634050126. 2
68634050127. 3
68634050128. 4

Question Number : 33 Question Id : 68634012691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Thumb sucking at the adult stage is a fixation at stage of psychosexual development given by Freud.

1. Latency

| B

. Anal
3. Oral

4, Phallic

Options :



68634050129. 1
68634050130. 2
68634050131. 3
68634050132. 4

Question Number : 33 Question Id : 68634012691 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TIPTTRIT B R BT T IS R (48 T AT [q B e ¥ RRIFR |
1. 3feged (T
TR (T
g (3Ra)
e (i)
Options :
68634050129. 1
68634050130. 2

68634050131. 3
68634050132. 4
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Question Number : 34 Question Id : 68634012692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A(An) test compares an individuals results on the test with the statistically representative sample.

1. Objective

b2

. Reliable
3. valid

4, Non-referenced

Options :

68634050133. 1
68634050134.2
68634050135. 3
68634050136. 4

Question Number : 34 Question Id : 68634012692 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050133 1
68634050134 2

68634050135. 3
68634050136. 4
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Question Number : 35 Question Id : 68634012693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An electric nerve impulse that travels through a neuron when it 1s set off by a "trigger” changing the neurons
charge from negative to positive.

1. Graded Potential
2. Resting Potential
3. Action Potential
4. Threshold

Options :

68634050137. 1
68634050138. 2
68634050139. 3
68634050140. 4

Question Number : 35 Question Id : 68634012693 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050137. 1
68634050138. 2
68634050139. 3
68634050140. 4

Question Number : 36 Question Id : 68634012694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A bell shaped curve or normal curve 1s

1. Mesolaurtic

2

. Leptokurtic
3. Platykurtic

4, Slewed

Options :

68634050141. 1
68634050142. 2
68634050143. 3
68634050144. 4

Question Number : 36 Question Id : 68634012694 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050141. 1
68634050142. 2
68634050143. 3
68634050144. 4

Question Number : 37 Question Id : 68634012695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Down's Syndrome is characterized by the presence of an extra chromosome.

1.X

[
| ]
b

4,23

Options :

68634050145. 1
68634050146. 2
68634050147. 3
68634050148. 4

Question Number : 37 Question Id : 68634012695 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S Ay U ofafkad S 31 Sulufa & g1 uRafid g g
1. gy
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arg
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Options :

68634050145. 1
68634050146. 2
68634050147. 3
68634050148. 4
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Question Number : 38 Question Id : 68634012696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Flooding in a method under

1. Behavior therapy

2

. Cognitive Behavior therapy
3. Humanistic therapy
4, Client-centered therapy
Options :
68634050149. 1
68634050150. 2

68634050151. 3
68634050152. 4

Question Number : 38 Question Id : 68634012696 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050149. 1
68634050150. 2
68634050151. 3
68634050152. 4

Question Number : 39 Question Id : 68634012697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Some people show pleasure while others are terrified while riding a Roller Coaster. appraisal trigger
these different emotional experience:

1. Affective
2. Cognitive
3. Cultural
4. Social

Options :



68634050153. 1
68634050154. 2
68634050155. 3
68634050156. 4

Question Number : 39 Question Id : 68634012697 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050153. 1
68634050154. 2

68634050155. 3
68634050156. 4

¥

Question Number : 40 Question Id : 68634012698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who used "objective introspection” to study human processes?

1. William James

[

. Charles Darwin
3. Wilhelm Wundt

4. Alfred Adler

Options :

68634050157. 1
68634050158. 2
68634050159. 3
68634050160. 4

Question Number : 40 Question Id : 68634012698 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050157. 1
68634050158. 2
68634050159. 3
68634050160. 4

Question Number : 41 Question Id : 68634012699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean of any distribution of scores converted to Z score is always.

1.1

[
| ]

4.0
Options :
68634050161. 1
68634050162. 2

68634050163. 3
68634050164. 4

Question Number : 41 Question Id : 68634012699 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634050161. 1
68634050162. 2
68634050163. 3
68634050164. 4

Question Number : 42 Question Id : 68634012700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Presence of empathy in Nightingale and lust for power in Nepoleon are examples of

1. Central trait
2. Cardinal trait
3. Secondary trait
4. Source trait

Options :

68634050165. 1

68634050166. 2

68634050167. 3
68634050168. 4

Question Number : 42 Question Id : 68634012700 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050165. 1
68634050166. 2

68634050167. 3
68634050168. 4
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Question Number : 43 Question Id : 68634012701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following correlation coefficient would be considered as the most strongest one?

1.+.80
2.2 75
379
4. - .88

Options :

68634050169. 1
68634050170. 2
68634050171. 3
68634050172. 4

Question Number : 43 Question Id : 68634012701 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. +380
2.=.75
3.+79
4, — .88

Options :

68634050169. 1
68634050170. 2
68634050171. 3
68634050172. 4

Question Number : 44 Question Id : 68634012702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rohit has constant worry about his health. He has met numerous doctors for ruling out serious diseases, only
to be reassured of his well being. Each small ailment (e.g.Sneezing, fever, headache) exacerbate his worries.

He considers them to be indications of major illness. Which disorder does he suffer from?

1. Somatization

-2

. Conversion

L¥ 5]

. Dysmorphic

=

. Hypochondriasis

Options :



68634050173. 1
68634050174. 2
68634050175. 3
68634050176. 4

Question Number : 44 Question Id : 68634012702 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050173. 1
68634050174. 2
68634050175. 3
68634050176. 4
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Question Number : 45 Question Id : 68634012703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A negative correlation occurs when scores on one variable are associated with 5COres on a
second variable.

1. Higher: higher
2. Higher: lower
3. Higher; equal
4. Lower: equal
Options :
68634050177. 1
68634050178. 2

68634050179. 3
68634050180. 4

Question Number : 45 Question Id : 68634012703 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050177. 1
68634050178. 2
68634050179. 3
68634050180. 4

Question Number : 46 Question Id : 68634012704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a method of probability sampling?

1. Purposive sampling

[ )

. Snowball sampling

Lad

. Incidental sampling
4. Cluster sampling

Options :

68634050181. 1

68634050182. 2

68634050183. 3
68634050184. 4

Question Number : 46 Question Id : 68634012704 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050181. 1
68634050182. 2
68634050183. 3
68634050184. 4

Question Number : 47 Question Id : 68634012705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Color blindness 1s caused by defective in the of the eye.
1. iris, retina
2. iris, cornea
3. blood vessels, pupil
4. cones, retina
Options :
68634050185. 1
68634050186. 2

68634050187. 3
68634050188. 4

Question Number : 47 Question Id : 68634012705 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050185. 1
68634050186. 2
68634050187. 3
68634050188. 4

Question Number : 48 Question Id : 68634012706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1s a form of conditioning in which the onset of the conditioned stimulus (CS) precedes the onset of the
unconditional stimulus (UCS) and the presentation of the CS and UCS does not over lap.

1. Delay conditioning

| )

. Simultaneous conditioning
3. Trace conditioning
4. Backward conditioning
Options :
68634050189. 1
68634050190. 2

68634050191. 3
68634050192 4

Question Number : 48 Question Id : 68634012706 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050189. 1
68634050190. 2
68634050191. 3
68634050192. 4
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Question Number : 49 Question Id : 68634012707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A researcher wants to test if there is a significant difference between the achievement scores of gth grade
students 1n mathematics before and after 2 months of mstructions. Which of the following tests will be the
most appropriate to use?

1. Chi-square test
2. Independent sample t-test
3. Dependent sample t-test

4. Pearson correlation

Options :

68634050193. 1
68634050194. 2
68634050195. 3
68634050196. 4

Question Number : 49 Question Id : 68634012707 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050193. 1
68634050194. 2
68634050195. 3
68634050196. 4

Question Number : 50 Question Id : 68634012708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



neurons carry messages from the senses to the spinal cord. neurons carry messages from the
spinal cord to the muscles and glands.

1. Afferent. efferent
2. Efferent. afferent
3. Efferent. inter
4, Inter.afferent
Options :
68634050197. 1
68634050198. 2

68634050199. 3
68634050200. 4

Question Number : 50 Question Id : 68634012708 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050197. 1
68634050198. 2
68634050199. 3
68634050200. 4

Question Number : 51 Question Id : 68634012709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Association Agnosia patients cannot readily name the objects they have seen or drawn

Statement IT: Prosopagnosia patients may not recognize faces of known people even photographs of their
own face

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement II are frue

2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050201. 1
68634050202. 2
68634050203. 3
68634050204. 4

Question Number : 51 Question Id : 68634012709 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050201. 1
68634050202. 2
68634050203. 3
68634050204. 4

Question Number : 52 Question Id : 68634012710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In proactive interference. information currently being learned interferes with information already
present in memory

Statement IT: In retroactive interference. previously learned information interferes with information being
learned at present

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement II is false

4, Statement I is incorrect but Statement IT is true

Options :

68634050205. 1
68634050206. 2
68634050207. 3
68634050208. 4

Question Number : 52 Question Id : 68634012710 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050205. 1
68634050206. 2
68634050207. 3
68634050208. 4



Question Number : 53 Question Id : 68634012711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Facial feedback hypothesis indicates that emotional states can produce change in facial
expressions

Statement IT: JTames- Lange theory of emotion suggests that subjective emotional experiences are actually the
result of physiological changes within our bodies

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050209. 1
68634050210. 2
68634050211. 3
68634050212. 4

Question Number : 53 Question Id : 68634012711 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050209. 1
68634050210. 2
68634050211. 3
68634050212. 4

Question Number : 54 Question Id : 68634012712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: When people do not recall their dreams it is probably because they are secretly trying to forget
them

Statement IT: Sleep enables the brain to rest because little brain activity takes place during sleep
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement IT are false

3. Statement I 1s correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050213. 1
68634050214. 2
68634050215. 3
68634050216. 4

Question Number : 54 Question Id : 68634012712 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050213. 1
68634050214. 2
68634050215. 3
68634050216. 4

Question Number : 55 Question Id : 68634012713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to information processing theory cognitive development is characterized by increase
in storage capacity. processing speed and efficient executive functioning

Reason R: The process of myclination is the most prolonged developmental change in human brain

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634050217. 1
68634050218. 2
68634050219. 3
68634050220. 4

Question Number : 55 Question Id : 68634012713 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050218. 2
68634050219. 3
68634050220. 4

Question Number : 56 Question Id : 68634012714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Standard sores expresses the individual's distance from the mean in terms of standard deviation
Reason R: Linearly derived standard scores are often designated simply as 'z’ score
In the light of the above statements. choose the most appropriare answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A is correct but R 1s not correct

4, A is not correct but R is correct

Options :

68634050221. 1
68634050222. 2
68634050223. 3
68634050224. 4

Question Number : 56 Question Id : 68634012714 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050221. 1
68634050222. 2




68634050223. 3
68634050224. 4

Question Number : 57 Question Id : 68634012715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R
Assertion A: Research evidence indicates that aggression in a reasonably stable attribute
Reason R: Reactive aggressors are children who display high levels of hostile, retaliatory aggression

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

| )

. Both A and R are true but R is NOT the correct explanation of A
3. A is correct but R is not correct

4, A is not correct but R is correct

Options :

68634050225. 1
68634050226. 2
68634050227. 3
68634050228. 4

Question Number : 57 Question Id : 68634012715 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050225. 1
68634050226. 2
68634050227. 3
68634050228. 4



Question Number : 58 Question Id : 68634012716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 15 labelled as Reason R

Assertion A: The Behavioral Activation system (BAS) and the Behavioral Inlubition system (BIS) are the two
neural systems, the functions of which establishes the relationship between emotion and motivation

Reason R: BIS links approach motives and derived incentives with positive emotions

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

68634050229. 1
68634050230. 2
68634050231. 3
68634050232. 4

Question Number : 58 Question Id : 68634012716 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050229. 1
68634050230. 2
68634050231. 3
68634050232. 4



Question Number : 59 Question Id : 68634012717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The social position curve provides evidence for the existence of two distinet memory systems
short-term (working) memory and long term memory

Reason R: When people try to recall a list of unrelated words, they usually remember more words from the
beginning and end of the list than from the middle

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R 1s false
4. A 15 false but R is true

Options :

68634050233. 1

68634050234. 2

68634050235. 3
68634050236. 4

Question Number : 59 Question Id : 68634012717 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁgﬁ HY fST T B: U BT (Assertion A) & =0 1 ARG § I GIRT 3HP BRI (Reason R) P
SO H:

DY A : PHD RIFM R agh. 3 i1 UPR & Hdl T3l - SeTpIcieD (SRiED) FHid Td drdiiern
Wi & 3f&T@ oq ed UgH Bl o )

DRUIR : od AR bl e T Bt 2 AR DR B DI D 5, I8 Usal DI Al § H TH
@1 gaH1 8 YR Ud 31 & eg SU1&1 T8 I8d g |

SRl HY- & 3Tl |, - U Ty fasedi § 9 91 IR &1 90 Sif:

1.AFRRE TG € SIRR AT Gel TRATE
2. A RREH IU %, dfFTR. A D! Tg! AT 61 ©

3. AT e, AfR 3TT B

4. AIEIe, AfFTRIA S

Options :

68634050233. 1
68634050234. 2
68634050235. 3



68634050236. 4

Question Number : 60 Question Id : 68634012718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Occipital Lobe | 1. |Prefrontal Cortex
Parietal Lobe | II. | Somatosensory Cortex
Temporal Lobe| II1. | Primary Visual Cortex
Frontal Lobe |IV |Primary Auditorv Cortex

T REE

Choose the correct answer trom the options given below:

1. A-IT B-III C-IV D-I

| ]

CA-ITT B-II C-IV D-I
3. A-III B-IV C-II D-1
4. A-IV B-1I C-III D-I

Options :

68634050237. 1
68634050238. 2
68634050239. 3
68634050240. 4

Question Number : 60 Question Id : 68634012718 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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CA-ITT B-II C-IV D-I
3. A-III B-IV C-II D-1
4. A-IV B-II C-III D-I

Options :
68634050237. 1



68634050238. 2
68634050239. 3
68634050240. 4

Question Number : 61 Question Id : 68634012719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A | plaseboatrst| T We can l{lrau' clear causal_
conclusion from an experiment
B High external 1 The results of a study generalize to
" validity " |other settings and populations
Participant improves because of the
C Double-blind 1 expectation of receiving a
" lprocedure " treatment, not because of the
treatment itself
ik inibeial Neither 1'esea1'<;hers nor p.a_ﬁicipanrs
D. Sat IV Jknow the condition to which each
validity o z :
- participant is assigned

Choose the correct answer trom the options given below:

1. A-IIL B-I. C-II. D-IV

| )

CA-IIL B-IV. C-1. D-IT
3. A-IL B-III. C-IV, D-I
4. A-IT1, B-II. C-IV. D-I

Options :

68634050241. 1
68634050242. 2
68634050243. 3
68634050244. 4

Question Number : 61 Question Id : 68634012719 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-III, B-1. C-II. D-IV

2. A-IIL B-IV. C-1, D-II

3. A-IIL B-III., C-IV. D-I

4, A-III, B-1I. C-IV, D-I

Options :

68634050241. 1
68634050242. 2
68634050243. 3
68634050244. 4

Question Number : 62 Question Id : 68634012720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI
Approaches

LISTII

Psychologists

Genetic Epistemology

1. | Bandura

Human Factor Engineering] II. | Piaget

Individual Differences

ITI. | Galton

REE

Observational Learning IV | Broadbent

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

2. A-IL B-1. C-IV, D-III

3. A-IL B-IV. C-III. D-I

4, A-IL B-IIIL. C-IV, D-I

Options :

68634050245. 1
68634050246. 2
68634050247. 3




68634050248. 4

Question Number : 62 Question Id : 68634012720 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i
T 1 (SUTTH) = 11 (FAaTTTS)
A [sHR® uigedaen | L [dE
B. [Ad ®R® AMHTiED]| I [fugr
C. [dafadd fH~ang 11 e
D. [d&omEd A v [gres=<
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-I. B-II. C-III. D-IV

| o

A-IL B-1. C-IV, D-III
3. A-IL B-IV. C-III. D-I
4. A-IL. B-III. C-IV. D-I

Options :

68634050245. 1
68634050246. 2
68634050247. 3
68634050248. 4

Question Number : 63 Question Id : 68634012721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Concept Explanation

A | Instinct I | Self determination theory

B. | Intrinsic motivation |II. | Fixed Action pattern

: B emvion| sctvanion 11| Oriented towards rewards
svstem
B [ Tc st v E_m'uonmemal motivational
trigger

Choose the correct answer trom the options given below:

1. A-II, B-III. C-I. D-IV

| )

AT B-LL C-I1. D-IV
3. A-IV, B-I, C-III. D-II
4. A-IT1, B-1I, C-1. D-IV

Options :

68634050249. 1
68634050250. 2
68634050251. 3
68634050252. 4

Question Number : 63 Question Id : 68634012721 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

= 1 (HU) T 11 (ARSI
A [gomaig L |ame-Feio gid
B. [#=aia HHIRo 1L [Fgd @& UEy
C. [EAagie® feariicrdr o3 111 [IREPR &1 3R 3™
D. [uieHre IV, [giaR U 1Ré
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-II. B-III. C-I. D-IV

| o

AT, B-1. C-II. D-IV
3. A-IV. B-1, C-III. D-II
4. A-III, B-II. C-1. D-IV

Options :

68634050249. 1

68634050250. 2
68634050251. 3



68634050252. 4

Question Number : 64 Question Id : 68634012722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
Example Concept
Fraser's Spiral | 1. | Gestalt Law of Continuity
Motion picture | II. | Depth perception
Ames Room 111 | Stroboscopic movement
. | Visual chff IV. | Distort size constancy

REE

Choose the correct answer from the options given below:

1. A-I, B-III, C-II. D-IV

[ ]

AL B-IV. C-1, D-IT

L]

CA-L B-IIIL C-IV. D-II
4. A-1. B-I1, C-III., D-IV

Options :

68634050253. 1
68634050254. 2
68634050255. 3
68634050256. 4

Question Number : 64 Question Id : 68634012722 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

T 1 (ITER) Tl 11 (HU)
A [FoR &1 TR I [F=03d1 &1 TRETee &l 09
B. a4 11 [FTeTs Ua&m
C. [T @ 111 [RER® it Td
D. [efF yi dasfard faew) Iv. [[deitd sneR FRuzd
-9 fau 7Y fa el O 9 98l OIR &1 997 DI -

1. A-I. B-III. C-II. D-IV

| )

A-TIL B-IV. C-1. D-II
3. A-L. B-III, C-IV. D-II
4. A-1. B-I1. C-III., D-IV

Options :



68634050253. 1
68634050254. 2
68634050255. 3
68634050256. 4

Question Number : 65 Question Id : 68634012723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A process of
A |Tevatogen [ jdentifying genetic defects

during prenatal duration.
Disorder produced by X-link

Fetal Alchohol spectrum

B dizorder B genes

C. |Amniocentesis 11 Mofhuess Ponsampuen &
alchohol during pregnancy

b | emophitia v Environmental agent like

virus, chemical etc

Choose the correct answer from the options given below:

1. A-IV. B-I. C-III. D-II

| ]

CA-IV, B-IILL C-I, D-II
3. A-IIT, B-IV. C-1. D-II
4, A-L. B-IV, C-1II. D-III

Options :

68634050257. 1
68634050258. 2
68634050259. 3
68634050260. 4

Question Number : 65 Question Id : 68634012723 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

A1 T I
A_[f[qeurdrg (o) L [9gaud f[a®r & a9 AHdIRIS alyl &1 UgdH $d $i Hishy]
B [cd Hemigd WacH [3eMTey| 11 [UaH 103 o gRI 30— [dBR
C. [eFa=TEg 111 FTHIG® & TR J1 & gRI FGUH B
D. [raifthicra IV, [qiaRuiig SRUT oY fauIu], 34104 sdls
i fou 7T fasedl O O 9ol SR &1 99 Bifo ;

1. A-IV. B-I. C-III. D-II

| ]

CA-IV, B-IIL C-I, D-II
3. A-IIL, B-IV. C-I. D-II
4. A-1. B-IV, C-1II, D-III

Options :

68634050257. 1
68634050258. 2
68634050259. 3
68634050260. 4

Question Number : 66 Question Id : 68634012724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Tvpes of Intelligence Vocational end states
A | Spatial 1. |Dancer, Athelete
B B_Dd}'— : 1 Contribl.}tes to success in almost any
" [Kineshtetic " walk of life
C. | Interpersonal IT1. | Engineer, sculpturer, cartographer
D. | Intrapersonal v Therapist public relation officer, sales
person

Choose the correct answer from the options given below:
1. A-ITT. B-IV. C-I1. D-1
2. A-IIT, B-1. C-IV. D-II
3. A-IT. B-1. C-IV. D-III
4. AL B-11. C-L. D-IV
Options :
68634050261. 1

68634050262. 2
68634050263. 3



68634050264. 4

Question Number : 66 Question Id : 68634012724 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1S 1Y G 11 BT fHer i

1 EEFUPR)| 11 (TSNS TR S

A [Re 1. [Ad®, uia@

B. [ERRfdfd 11 [ofla o o4 OYT &t o Ohaial 5 aRTeH
C [a=antgas |1 [arfindan gideR, aakEeR

D. |saidaigade | IV [Ridas. Sadus Aiden, fdhma

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-TIIL, B-IV. C-11. D-I

| o

AL B-1L C-IV. D-II
3. A-IL B-I. C-IV, D-III
4. A-III, B-II. C-1. D-IV

Options :

68634050261. 1
68634050262. 2
68634050263. 3
68634050264. 4

Question Number : 67 Question Id : 68634012725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI
: LISTII
Tvpe of Reinforcement 2o
Definition
schedule
: . Remnforcement occurs after a set time
A |Fixed-ratio I :
period
= : Reinforcement occurs after a set
B. | Variable-interval II.
mumber of responses
. : . Remnforcement occurs after a varving
C. | Fixed-internal ImI. | . j & R
time period
. . . | Reinforcement occurs after a varying
D. | Variable-ratio IV % chsEs
number of responses

Choose the correct answer from the options given below:

1. A-ITT, B-II, C-IV. D-1
2. AT B-II1, C-1. D-IV
3. A-I B-IV. C-I1. D-III
4. A-IV. B-I. C-III. D-II

Options :

68634050265. 1

68634050266. 2

68634050267. 3
68634050268. 4

Question Number : 67 Question Id : 68634012725 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 & Y G 11 BT e S

= 1 (QAEaT A & UPR) T 11 (TR

A [gd-sHud L [gqscH U Hgd GHamEls & ugard 9idd gidl g
B [oRafd daea 11 [q9ea+ va (o eEfeanae & Udrd ied aidl |
C. [FTd siavra 1L [q9e e URad] 99araly & Y=ard "ied sidl ol

D [aRad sua IV. [gea= gRad] sifsharsi & a1 gied gidl o
=g fau 7Y fawedl & 9 Tl SR &1 999 DIy ;

1. A-TII, B-II. C-IV. D-I
2. A-IL B-I1I. C-1. D-IV
3. A-L. B-IV. C-11, D-III
4. A-IV, B-1, C-III, D-II

Options :
68634050265. 1



68634050266. 2
68634050267. 3
68634050268. 4

Question Number : 68 Question Id : 68634012726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
Depth cues Definition

Straight lines seem to join together as they

A | Texture gradient | L :
= become more distant

Details of things on surface that are far

B. | Motion parallax | I : i
away  are less distinct

Linear An object changes position on the retina as
perspective " | the head moves

It two objects are the same size, the one
D. | Retinal size IV | producing smaller retinal image
is further away

Choose the correct answer from the options given below:

1. A-I, B-IL C-III. D-IV
2. A-IIL B-IV. C-II. D-1
3. A-IL B-III. C-1. D-IV
4. A-IL. B-III. C-IV. D-I

Options :

68634050269. 1

68634050270. 2

68634050271. 3
68634050272. 4

Question Number : 68 Question Id : 68634012726 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1S 1Y G 11 BT fHer i

T 1 (Tes-8d) T 1 (TRUT)

A [fT34 gavrdl L [gaHR 3 g2 814 R Y | el 85 daid eldi o

B [1id ored 11. il g TR a3l o1 [0 R-gX Bid1 € 1 98 ®H ol W Udid el 2

C. oReRg |1 o ot RR T St & S & 33y 1 TR g% @) YT 9ecdi Yedl g

D. |a1i&geciy iR IV, [41E &l 9% T0H HIHR @1 § di [oad] HAl&ed ™ id @1 eldl &, 98 62 Ydid aidl ¢ |

- fau 7Y fawedi # 9 Hel SR &1 99 Do -

1. A-I. B-II. C-III. D-IV

| o

AL B-IVL. C-I1L D-I
3. A-IL B-III, C-1. D-IV
4. A-II, B-IIIL. C-IV. D-I

Options :

68634050269. 1
68634050270. 2
68634050271. 3
68634050272. 4

Question Number : 69 Question Id : 68634012727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Theorists Views on emotion
Physiological arousal and emotional
A |Lazarus I: ZiEn . :
experience occurs sumultaniously
Experience of emotion results from
B. | Cannon-Bard II. | phvsiological changes produced by specific
sefsation
e | pas Il Coggiﬁx'e.arou-sal even in the absence of
7 physiological arousal
! ..  [Emotions are jointly detertnined by non specific
D. | Schachter-Singer [IV. : S il S
= physiological arousal its interpretation

Choose the correct answer from the options given below:
1. A-I. B-II1. C-11. D-IV
2. AL B-IL C-IV. D-III
3. A-II1. B-1. C-I1. D-IV
4. A-IV. B-II. C-1. D-III

Options :
68634050273. 1



68634050274. 2
68634050275. 3
68634050276. 4

Question Number : 69 Question Id : 68634012727 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 &y i 1 9 e S

T 1 (HEaeR) T 11 (He R [9E9R)

A [aoRE 1 [Gfe® Sdol Ud 9iaiT® 3Hd U 1Y 3= eidl |

B. [p1Hare 11 [¥a71 @1 3H4F [P Yded1 30— $- aid aled URaddl § 3d- el ¢l

C. [srga 111 [GTe® Ioiorl @1 Suryfd # Hi G Stior &l 51|

D. [idex RiTR | 1v. [Hd71f @1 4o 4ged 39 9 SHAGRIF ¢igs Idu-l Ud 349! oIRed] & R Bldl o

=i fau Y fawedi & 9 Hel SR &1 9 Dife -

1. A-I, B-IIL. C-IL. D-IV

|

. A-IL B-L, C-IV, D-III
3. A-IIL, B-1, C-II. D-IV
4. A-IV. B-II. C-I, D-III

Options :

68634050273. 1
68634050274. 2
68634050275. 3
68634050276. 4

Question Number : 70 Question Id : 68634012728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in sequence the following components of one of the theory of intelligence. which represents the name
of that theory?

A, Simultaneous
B. Attention

C. Planning

D. Successive

Choose the correct answer from the options given below:

1A B G

[ B)

.C.A.B.D

3B.C.AD

4 C.B.A.D



Options :

68634050277. 1
68634050278. 2
68634050279. 3
68634050280. 4

Question Number : 70 Question Id : 68634012728 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 & Rigra & 1= sagdl &1, 1 % 39 Rgra & 71 1 Ugd @4 6. T8 3P § sgafd
DIl

14 fau U fawedi & 9§ 951 SR ®1 99 Difold:

1A B. TG

| )

.C.A.B.D
3.B.C.A.D
4. C.B.A.D

Options :

68634050277. 1
68634050278. 2
68634050279. 3
68634050280. 4

Question Number : 71 Question Id : 68634012729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give the correct sequence of stages of sleep from stage 1 to stage 4 with reference to the nature of brain
waves.

A Sleep spindles

B. Slower waves with higher peaks and lower valleys
C. Slower and more regular

D. Relatively rapid and low amplitude

Choose the correct answer from the options given below:
1LAC. DB
2Z2DACB
3.B.A.C.D

4.D. A B.C

Options :

68634050281. 1
68634050282. 2
68634050283. 3
68634050284. 4

Question Number : 71 Question Id : 68634012729 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
OiETs all & dgl I (51 1 Sawdrsl i S[awT 1 J 3aRT 4 & Hg! SFPpH I gaigt:

A. 51 I (Wig s )
B. 3= XY T 1 91dl & 91y Hig Tl

c. He ud afve fFafig
D. 9Ui&® ¥u I dig ud A= smam
A fau 7T fomedi § 9§ TEl 3R D1 gui Difeid:

1.A,C.D.B

b2

.D,A,C.B
3 BACD
4.D. A B.C

Options :

68634050281. 1
68634050282. 2
68634050283. 3
68634050284. 4



Question Number : 72 Question Id : 68634012730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following bipolar dimensions are measured by Myers-Briggs type Indicator (MBTI)?
A. introversion versus extraversion
B. thinking versus feeling
C. stability versus Neuroticism

D. perception versus judgement
E. angry versus calm

Choose the correct answer from the options given below:
1. B. C and E only
2. A. B and D only
3.C.D and E only

4. A.D and E only

Options :

68634050285. 1
68634050286. 2
68634050287. 3
68634050288. 4

Question Number : 72 Question Id : 68634012730 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-7 TR A (TH.E1LCLAMTE.) & gRI A § 9 o o faydig faund ardt ot g2
A ST 89 dieEdl
B. a1 9919 yiaA
c. FRRar 991 dEeam

D. TH&0T &7 fAufg
E. it g1 9Iid

2 fau e fawed & @ 9l S| @1 9y Fifew:
1. $ad B. C R E
2. HadA. B IRD
3.%49 C.D 3RE
4. PadA. D 3R E

Options :
68634050285. 1
68634050286. 2



68634050287. 3
68634050288. 4

Question Number : 73 Question Id : 68634012731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the functions of Parasympathetic Nervous system?

A Increases salivation
B. Slows heart rate
C. Decreases digestive functions

D. Inhabits bladder functions
E. Dilates pupils

Choose the correct answer from the options given below:
1. A. B. and C only
2.B. C and E only
3. Aand B only

4. A and C only

Options :

68634050289. 1
68634050290. 2
68634050291. 3
68634050292. 4

Question Number : 73 Question Id : 68634012731 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
P 7 & P wE T e U 8

A, TIREE $T gSal g

B. g0 TTfd &1 &H Hdl 2|

C. U da @t ST B Sar gl
D. &8I & SithH CARIGTIE
E. glerl &l hardi g |

9 fau e fawedl o 9 98l SR @1 90 Biforg
1. $AAA.B AR C
2.Pad B.C IRE
3.Pad A JRB
4. PAAAIARC




Options :

68634050289. 1
68634050290. 2
68634050291. 3
68634050292. 4

Question Number : 74 Question Id : 68634012732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the tasks that assess executive functions.

A. Conservation task

B. Stroop task

C. Trail making task

D. Color span backward task
E. False belief task

Choose the correct answer from the options given below:
1. E. D and A only
2.B.Cand D only
3.A.Band C only

4. C.A and E only

Options :

68634050293. 1
68634050294. 2
68634050295. 3
68634050296. 4

Question Number : 74 Question Id : 68634012732 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U8 ST &1 994 Siford foms iferemsdt yeraf &1 S g 2|

A. TR SR
B.@ﬂ’)‘lﬁ
C. Col-HfhT TR
D. ¥ fa=IR ga &l
E. TTad fawarg i
= fau e fg@ed & @ Ot S &1 9uF P
1. BITE. D AR A
2. Bada B, C 3R D
3. FATA.BIARC

4. PAAC, AIRE

Options :

68634050293. 1
68634050294. 2
68634050295. 3
68634050296. 4

Question Number : 75 Question Id : 68634012733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the verbal subtests of Wechsler Adult Intelligence Scale?

A. Information

B. Similarities

C. Digit symbol

D. Object Assembly
E. Dagit Span

Choose the correct answer from the options given below:

1. Aand B only

[ )

.B. C and E only
3. A.Band E only

4.D. E and A only

Options :

68634050297. 1
68634050298. 2
68634050299. 3
68634050300. 4



Question Number : 75 Question Id : 68634012733 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR IO g HIU1 & Wifesd O&ur e § 1 &2

A Il
B. JHIdT

C. 3P Yl
D. %] =il
E. 3{® f[dwR

- fau T fowedt | 9 Tel SR &1 904 Difag:
1. %ad A 3R B
2. Pad B.C IRE
3.%dd A. B 3RE
4. PTAD.E SR A

Options :

68634050297. 1
68634050298. 2
68634050299. 3
68634050300. 4

Question Number : 76 Question Id : 68634012734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are True of kohlberg's theory?

A. Kohlberg ignored the powerful emotions of pride, shame, guilt that influence our moral thoughts and
actions

B. 'Good boy' or 'Good Girl' orientation occur in the post conventional morality stage

C. Naive Hedonism characterises the behavior of children in the stage of conventional morality

D. Kohlberg believes that stages of moral development follows an invariant and universal sequence

Choose the correct answer from the options given below:
1. A. B and D only
2. A. Cand D only
3. B and C only
4. B and D only
Options :

68634050301. 1
68634050302. 2



68634050303. 3
68634050304. 4

Question Number : 76 Question Id : 68634012734 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050301. 1

68634050302. 2

68634050303. 3
68634050304. 4

Question Number : 77 Question Id : 68634012735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Behaviour modification involves.

—

. Applying reward techniques

b2

. Solving problems through insight

L¥ 5]

. Application of learning principles to change behaviour
4. Bringing behaviours under stimulus control

Options :

68634050305. 1
68634050306. 2
68634050307. 3
68634050308. 4



Question Number : 77 Question Id : 68634012735 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050305. 1
68634050306. 2
68634050307. 3
68634050308. 4

Question Number : 78 Question Id : 68634012736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Being able to run a statistical analysis on data from the experiment.” Which of the following type of
intelligence can be explained by the given statement?

1. Creative intelligence

2. Analytical intelligence

3. Practical intelligence

4. Interpersonal intelligence
Options :
68634050309. 1
68634050310. 2

68634050311. 3
68634050312. 4

Question Number : 78 Question Id : 68634012736 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050309. 1
68634050310. 2
68634050311. 3
68634050312. 4

Question Number : 79 Question Id : 68634012737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: People who suffer from anorexia nervosa are afraid of becoming fat and they binge-eat and then
purge food

Statement II: People who suffer anorexia nervosa are afraid of becoming fat and severally restrict their food
intake to the extent of starvation

In the light of the above statements. choose the correct answer from the options given below:
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false

3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050313. 1
68634050314. 2
68634050315. 3
68634050316. 4

Question Number : 79 Question Id : 68634012737 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050313. 1
68634050314. 2
68634050315. 3
68634050316. 4

Question Number : 80 Question Id : 68634012738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Although the constitutes only 10% of the mass of the brain, it contains more than half of the brain's
neurons.

1. Thalamus

| ]

. Corpus Callosum
3. Cerebellum
4. Primary motor cortex

Options :

68634050317. 1
68634050318. 2
68634050319. 3
68634050320. 4

Question Number : 80 Question Id : 68634012738 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68634050317. 1
68634050318. 2

68634050319. 3
68634050320. 4

Question Number : 81 Question Id : 68634012739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other i1s labelled as Reason R

Assertion A : According to cognitive prospective thoughts. anticipations, planning. perceptions and attention
are all considered as major factors in behaviour

Reason R : Research on cognitive processes are generally done under highly controlled laboratory conditions
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634050321. 1
68634050322. 2
68634050323. 3
68634050324. 4

Question Number : 81 Question Id : 68634012739 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050321. 1
68634050322. 2
68634050323. 3
68634050324. 4

Question Number : 82 Question Id : 68634012740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following diagnostic test is based on the concept of functional systems?

1. Rorschach Inkblot test

[

. Luria-Nebraska Neurophychological Battery

L]

. Halstead-Reitan Neuropsychological Battery
4. Thematic Apperception Test

Options :

68634050325. 1
68634050326. 2
68634050327. 3
68634050328. 4

Question Number : 82 Question Id : 68634012740 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634050325. 1
68634050326. 2
68634050327. 3
68634050328. 4
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Question Number : 83 Question Id : 68634012741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which formula is applied to tests whose items are scored in dischotomous fashion such as right or wrong. true
or false etc?

1. Sphit-half formula

| )

. Cronbach's Alpha
3. Spearman-Brown formula

4. K-R. 20 formula

Options :

68634050329. 1
68634050330. 2
68634050331. 3
68634050332 4

Question Number : 83 Question Id : 68634012741 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050329. 1
68634050330. 2
68634050331. 3
68634050332. 4

Question Number : 84 Question Id : 68634012742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Craik and Lockhart's levels of processing' model. which of the following will have the best
memory.

1. A word recognized as having five-letters
2. A word recognized by the number of vowels in it
3. A word analyzed for its meaning
4. All the words will be equally remembered
Options :
68634050333. 1
68634050334. 2

68634050335. 3
68634050336. 4

Question Number : 84 Question Id : 68634012742 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050333. 1
68634050334. 2
68634050335. 3
68634050336. 4

Question Number : 85 Question Id : 68634012743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Sternberg's Triarchic theory of Intelligence people high on dimension usually excel on
standard tests of academic potential and make excellent students.

1. Contextual

2. Componential
3. Experimential
4. Cultural

Options :

68634050337. 1
68634050338. 2
68634050339. 3
68634050340. 4

Question Number : 85 Question Id : 68634012743 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050337. 1
68634050338. 2
68634050339. 3
68634050340. 4

Question Number : 86 Question Id : 68634012744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Contralateral neglect is often associated with large lesions of the right lobe.

1. Parietal

[

. Temporal
3. Frontal
4. Oceipital
Options :
68634050341. 1
68634050342. 2

68634050343. 3
68634050344. 4

Question Number : 86 Question Id : 68634012744 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050341. 1
68634050342. 2
68634050343. 3
68634050344. 4

Question Number : 87 Question Id : 68634012745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Figure out the standard deviation (SD) for the following scores: 2. 4. 3 and 7 (Mean =4).

1135

b2

1.87
3.1.96
4,2.16

Options :

68634050345. 1
68634050346. 2
68634050347. 3
68634050348. 4

Question Number : 87 Question Id : 68634012745 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050345. 1
68634050346. 2
68634050347. 3
68634050348. 4

Question Number : 88 Question Id : 68634012746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In classical test theory, the difficulty level of item 1s equivalent to the proportion of examinees in
a standardization sample who pass the item

Statement IT: IRT model concludes that test scores are more reliable for individual of average ability and
increasingly less reliable for those with very lugh or very low ability

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement II are false
3. Statement I is correct but Statement II 1s false

4. Statement I is incorrect but Statement IT is true

Options :

68634050349. 1
68634050350. 2
68634050351. 3
68634050352. 4

Question Number : 88 Question Id : 68634012746 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050349. 1
68634050350. 2
68634050351. 3
68634050352. 4

Question Number : 89 Question Id : 68634012747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following major areas are the arcas of assessment in mental states Examination (MSE)?

A. Cognitive and memory functions

B. Emotional functioning

C. Physique (Body build)

D. Perceptual error (illusion and hallucination)
E. Speech and communication

Choose the correct answer from the options given below:

1. C. D and A only

[ )

. A, B and C only
3.C.D and E only

4. A B and E only

Options :

68634050353. 1
68634050354. 2
68634050355. 3
68634050356. 4

Question Number : 89 Question Id : 68634012747 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050353. 1
68634050354. 2
68634050355. 3
68634050356. 4



Question Number : 90 Question Id : 68634012748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the steps of test construction in correct sequence.

A. Revising the test

B. Constructing the item

C. Selecting a scaling method
D. Testing the items

E. Defining the test

Choose the correct answer from the options given below:
1.LE, BB I A
2B B. D EA
JEC.B, DA
4. C.B.D. A E

Options :

68634050357. 1
68634050358. 2
68634050359. 3
68634050360. 4

Question Number : 90 Question Id : 68634012748 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050357. 1
68634050358. 2



68634050359. 3
68634050360. 4

Question Number : 91 Question Id : 68634012749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Most empirically supported treatments are psycho dynamic or humanistic

Statement IT: RCTS (Randomized Control Trials) are regarded as the gold standard in psychotherapy
research

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050361. 1
68634050362. 2
68634050363. 3
68634050364. 4

Question Number : 91 Question Id : 68634012749 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050361. 1
68634050362. 2
68634050363. 3
68634050364. 4



Question Number : 92 Question Id : 68634012750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which symbol is used to indicate "unusual detail” in Rorschach scoring criteria based on Exner's system of
s = o
scoring’

L.

2. UD

3.Dd

4. Vg
Options :
68634050365.
68634050366.

68634050367.
68634050368.

W N =

Question Number : 92 Question Id : 68634012750 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050365. 1
68634050366. 2
68634050367. 3
68634050368. 4

Question Number : 93 Question Id : 68634012751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Schizophrenic patients with positive symptoms have a better prognosis for recovery than those
these with negative symptoms

Statement IT: The dopamme hypothesis states that schizophrenia 1s produced by an under supply of this
neurotransmitter

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false

4. Statement I is incorrect but Statement IT is true

Options :

68634050369. 1
68634050370. 2
68634050371. 3
68634050372. 4

Question Number : 93 Question Id : 68634012751 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050369. 1
68634050370. 2
68634050371. 3
68634050372. 4

Question Number : 94 Question Id : 68634012752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the common obsessions:

A. Contamination

B. Excessive checking

C. Perfectionism

D. Hoarding

E. Unwanted sexual thoughts

Choose the correct answer from the options given below:

1. C.D and E only

[ ]

.A. Cand D only
3. A Cand E only

4.B. C and E only

Options :

68634050373. 1
68634050374. 2
68634050375. 3
68634050376. 4

Question Number : 94 Question Id : 68634012752 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050373. 1
68634050374. 2
68634050375. 3
68634050376. 4



Question Number : 95 Question Id : 68634012753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indicate the therapeutic techniques that are based upon principles of classical conditioning.

A. Aversion therapy

B. Applied Behaviour Analysis
C. Token economies

D. Systematic desensitization
E. Flooding

Choose the correct answer from the options given below:
1. A. C and D only
2.B.Cand D only
3. A DandE only

4. A. Cand C only

Options :

68634050377. 1
68634050378. 2
68634050379. 3
68634050380. 4

Question Number : 95 Question Id : 68634012753 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATyl 3EY- & ol W ruid e de-ie! &1 giTd Sife:

A. fosfa Rfee (sas= 2vdh
B. 3Ugdd agR faweiyu
C. Hibldd 1icaa (Sdh- gdhi-IaD)

Y [t

D. HHES SRiddmul (Redfes feddenos)
E. TS

=it fau T fawedt 7 9 Tel SR &1 904 DI
1. Had A, C IR D
2.%adB. C 3R D
3. PddA. D IRE
4. PTAA.CIRC

Options :
68634050377. 1
68634050378. 2



68634050379. 3
68634050380. 4

Question Number : 96 Question Id : 68634012754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Many people who suffer recurrent panic attacks develop agoraphobia because they fear they will
have an attack in public

Statement II: Panic attack can also occur during sleep
In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

b2

. Both Statement I and Statement IT are false
3. Statement I is correct but Statement IT is false

4. Statement I is incorrect but Statement II is true

Options :

68634050381. 1
68634050382. 2
68634050383. 3
68634050384. 4

Question Number : 96 Question Id : 68634012754 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy U E:

DY : By, Al ol GARIG A SHTPHUT G UIfSd 5id & 998 =H-2ifd (GRwIiean) faedid gl ordr g
Fifep 3 59 a1d A vgid 81d & fr 3= uidui~e Wd W SR UsS ol o

YU 11 - A1 316 a1 (U 3ie®) Fgr & erE i ufed g1 asar g1

IWRIGd $YF o ATl H, Fid ST [dhedl § I 9gl SR &1 90 HIOE:

1. YT AR 11 SF1 9 &
2. YT IR SHT 3T T

3. PYTITA R AP U 3 &

4. PYT 1 AT &, AT PYT I I ©

Options :

68634050381. 1
68634050382. 2
68634050383. 3
68634050384. 4



Question Number : 97 Question Id : 68634012755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following interviewing skills 1s intended to help clients change their self-defeating behaviours?

1. Self disclosure

[ )

. Open-ended questions
3. Disputing
4. Focusing

Options :

68634050385. 1
68634050386. 2
68634050387. 3
68634050388. 4

Question Number : 97 Question Id : 68634012755 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050385. 1
68634050386. 2
68634050387. 3
68634050388. 4

Question Number : 98 Question Id : 68634012756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is a type of closed-ended question i clinical interview?

1. Tell me about your problems

| B

. What kind of recreational activities do you prefer?

LIPS ]

. What kind of cars do you like?
4. Is your father strict?

Options :

68634050389. 1
68634050390. 2
68634050391. 3
68634050392. 4

Question Number : 98 Question Id : 68634012756 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI HaepR T F o 9 B 91 uRUIdRR T 31 TR 82
1. U SH=13 & 9 ¥ g §aigy|

39 fhy v R @t gAfsharas nfafafem of mufiedr 3d €1
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4. 91 3{1ueh o 2rRed 82

Options :

68634050389. 1
68634050390. 2
68634050391. 3
68634050392. 4

| )

Question Number : 99 Question Id : 68634012757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A random sample in which two or more subsamples are represented according to some predetermined
proportion. generally in the same proportion as they exist in the population is called sample.

1. Simple Random
2. Cluster

3. Stratified Random
4. Systematic

Options :



68634050393. 1
68634050394. 2
68634050395. 3
68634050396. 4

Question Number : 99 Question Id : 68634012757 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ue refes uiaes o < a1 3ad efe Su-vfaesl oo ydiuiRa rurd, mraq: St srua F
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1. Hc] Ylewdy
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3. WA Oef=s®
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Options :

68634050393. 1
68634050394. 2
68634050395. 3
68634050396. 4

Question Number : 100 Question Id : 68634012758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Individuals with paranoid personalities tend to be grandiose, entitled, and self-centered

Statement IT: Individuals with narcissistic personalities are aloof. emotionally cold. display unjustified
suspiciousness, jealousy and fear of intimacy

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I is correct but Statement II is false
4. Statement I iz incorrect but Statement IT is true

Options :

68634050397. 1

68634050398. 2

68634050399. 3
68634050400. 4



Question Number : 100 Question Id : 68634012758 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634050397. 1
68634050398. 2
68634050399. 3
68634050400. 4



